124 H EHEEEE E3 =
2~ X i &
B B 2013548 27H(H) 15:30 [HEEBE | 55x3 | 25% EREATRRR T V15
x & ] [ EvFIREE ANTE 2EERZ i RE §7)% & gE [ T
F XA B BH FE HIES WA EE AL RE
HIES HWE)I| K -1 EN BE
BEZX B/ BELR 1 e 0 55/ 8
we —
BWAXE 3 2 AR KF
KICK OFF ! 2 2% H 2 i CKICK OFD
xR Ta1—hk B . E| & |& B a1—k x K
&=l 5] 90| 75| 60| 45] 30| 15[ 51| = £ F A g & | B £ F 4 m|5t| 15[ 30[ 45| 60] 75| 90| 4 |EH
0 EF e | 1 |GK|GK|64] =R & 0
1 1 A E=E 5 [DF|DF|19] #1LU 4% 0
0 Ht #z# | 4 [DF|DF[18] ZE@E WX 0
0 AR E=H 3 [DF|DF| 29| #=m@E FE 0
0 x#H HEL | 2 [DF|DF| 14 0
0 E@A E—E8 | 7 [MFMF] 73 HE A 0
HT 0 WT FHF 6 [MFIMF| 28| 2R Rt 0
1 111 A K | 8 [MF[MF[ 13 £k B 2 1 1
1 1 INER B |11|MFIMF[14] MR 24 5] 2 1] 1 1
1 1 2| 2 7 FWR 12[FW[FW| 10| &K EIX 2|4 2:1:i1
HT 2]2 EA KiE | 10[FW[FW[27] HR B2 0 86
6 0 BE EN | 24|MF]FW[ 15 Az = 0 27
10 0 WA H— |25[MF
= L -k B B B B B Z L -k B
e | EE K £ 58 B FrfEl | BB E K £
2RB[1AB F—LEE 1ARB|2AH
3 4 7 [>a—F] 11 3 8
3 5 8 G K 7 1 6
1 1 2 C K 7 4 3
4 2 6 | EEFK| 15 8 7
2 0 2 | BEFK| 2 1 1
2 0 2 [ @ 2 1 1
0 1 1 P K 0 0 0
[&&]

GED A7HAFROEFIE. MET)—FvIBD55. A THIFIZLDBDERL TV,

[ZBEEH] CLRAR—YMITAE. C257F L1 CERE. C41REYRLMDER. C5:BIE TA. COIEHMTE. CTEFAIA, COEHAE

LGRISEA] STELFELRTL A, S2ELBHTA. S3DIEHE, S4B AMARIE(F) . SHEAMEAIELE (M), S6:{55F. CS:Z&2M@

B | F— L EYES T AR BEBB (~:RYTIL, = F5HURNRR, 1 BEFRAR, S:va—b H:ATALY)
19 BX |12 R W PK 12 i BES

47 BX |12 R W fhg-1i 5 i ARBRSHEFFR YUTE 12 i BARES

56 BX 8 i /H KHh | 111 MEBE BEX hk-1i 7 - 11 - 8 iHRES

61 WA | 10] #/AK WX |14 EA FE HCKi 14 1 ids-1i 10 HS

72 WA |10 #AK WX |73 HE EA -1 73 ~ T idgR-1: 10 22y FRE P BRES




